
기 계 진 동 학  (제4판) 연습문제 풀이 제1장 (2023년 과제)

[1.1절]

1.30   = 3 rad/s,    = 1.2 mm,    = 2.34 mm/s,   = ?   Compute and plot.

 =   sin(  + )  =     cos(  +)

 =   sin =   = 1.2 mm  >0 … ①

 =     cos =     ⇒     cos = 


 =  rads

 mms
 = 0.78 mm  >0 … ②

sin > 0, cos > 0 이므로, 0<<



①2 + ②2  ⇒   =  mm   mm  = 1.431 mm

① ÷ ②   ⇒  = tan 
 mm

 mm
 = tan-11.538 = 0.994 rad (= 57.0°)

∴   = 1.431 sin(3.00  + 0.994)   mm
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